Factoring Assignment

Factor completely:

O N E WNRE

e = S =
A WN R O

20ax? + 60ax + 45a

5x3 — 5¢cx? + 10x% — 10xc
X*—256

13x* - 13x3 — 260x?
96mx? + 232mx + 120m
27a%-48a

a’—4ab +4b%2-4
54x%y? — 63xy? — 27y?
r2—rt—5r+5t

. 12am? + 6amn — 30am — 15an
. 5x3 — 15x%y — 90xy?

. 16a* - 81b*

. 72ax? — 84ax — 60a

. 84x%y? — 4x3y3 — 8x%y4

15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

2a3z + 632z + 10a%z + 30az?2
p>+pg +tp +tq

54x%y + 63xy + 9y

8x* + 88x3 + 240x2

90a%x? — 6a’x — 12a?

X2 +6xy +9y?—1

16 —x*

6a3 + 6a’b — 18a%2 — 18ab
63x3 +42x% + 7x

24p3 - 24p?q + 56p% — 56pq
28x* — 175x?

48tx? — 32tx — 60t

5x> + 50x* + 105x3

14xyz + 21yz + 14xzt + 21zt
60a3b — 78a%b? — 18ab?

625 —16a*



Answers to Factoring Assignment

. Bal4®+ 2NA9) 4, P[P*f{))*up*%) 3,/ 5[c) +oy/ec )
CYNEE) & XAHI0X ) (%)
& T@[m@ (6344 2) (x—2)
Y. 19 /@xl»mcw) & (1H)(X6) b IXP (XA
Qo) Gx—+1) % +]) (Xulb}(xﬂ)[?(—b/) <8X”>/x+6)[7c+b)

I, 1 (xEx 20) 3 bo* (64—~ -2y 4. 0 (124> 29 4
2 (X =5 ) x+4) bo” (Bx-2)(3x41)  (Sr)(2x+5) (9% +3

00 (x+ By -1 I 3a( 9 10) 2. ({4-x2)(4+ )
ESETE: \> (% Ay |> 3a (2a+4)( 55141) (2 +)2-)( L/ﬂ(’j

B, (a-2b) -4 . (oa(a@abf%w%g 5. Tyt (ox*=74-3)
(a-20+2) - 2b=2) bof r=2Nath) y>( 6><+))/2><~3J

o Te(xPbx#1) 1. v(rt)-6(ct) 16 9p(37=3pqATp-Ty)

Fx By >)[3><—1> (r=5)r-¥) 5p (3p ) P4
T (B -1)

19 (oaw\(&m+n>-15a/2m—w> 20. 4)(“[%(2-28) 2t 51/?(’(02>[XH5>

(2m+ (o =15 7x2/&x+6)(ax~6)

(Qm+n) (30)(am=3)

2. Mt (1axy=-5x-18) . [L/a% %ﬁ/cmbf%”)
4t (Ax-3) 03+5) (462416 ) (204 30)(2a-2b)

84, BY (T (A1)

25, 2o (bx?-7x-S) 4. h{gzx—fs)/wt) 2. L/ng}’-(;uﬁ-x%r;z >)
0. (3% 8)(Qx+) dvry (T34 29)(3 %)
g5 Lol [108%13 ab-6b™) 9. da’z/ a+5)a-32)

30. [85+4a*)(25-Hu*)
(as +4a%)(6-22)(5 +Qa>

Chapter 3 Solving Quadratic Equations Page 1



	Factoring Assignment (with solutions)
	Factoring Assignment ANSWERS
	Factoring Assignment

	Factoring Assignment (with answers)

